8T KX PR

QOO =1D W v Wb —

[a—

s
~
{
ol
=
>

)

BRI
B BT
2=y
=

=
Jo
&

(EPNSE S

000 =1 O AN o= LD —

iz )
FH (CGREE3)
58 (FA752)
%o (FATR3)
ey (THE2)
HiE (HFE2)
Je¥8 (RYE3)
Kb (—#&H3)
AAT (BE3E2)

/NEFSF (TEES)

7 (FRE2)
41l (X 13)
S (F5R3)
BHA (BRE3)
IR (A 175 2)
NI CRHE3)
%ﬂ H (B 2)
ek (BE53)
& (F.KX1)
ok (RHE2)
FH (BFIS3)

¥l (F #3)

S
(8~10m/s)
H H

e

F A

fE H
JH (BE~22)

i 5
A (B )
{7

B
FHECREE)

2R
14
0.7
3
31
8
25
23

H2R: th Finish
HH DSQUi Y
#H2R: th Finish
PRI DSQU )


http://www.tcpdf.org

